26300 AEEA TR RS

7= miiEA

M

MHIFAR
TEME & M8x0.75,
MWHEET

MHEIR

Ml BREDPEES.

WA

BEFME,

S M8x0.75,

R KB EBH TR M8x1,
RBEEAL B EET,
HRES,

R

TlEERENEEFE, RRAANBRETH. HERERNWEEH
R, BHXFARAXNAREN , AN FIENZ HRITHEBIAT.
ERARESRRE  WETHPNARRIH#TEYT K EEXIHKENLE

.,
MERARELZTREISAHE , ENIHEH. RisH ks,
BEA :

AIA RN Tl B IRES M8x1 (26300-0810008) 1R FE Fff — MR R,

Sw L3

D2

D1
!
!
f
D

L1 S L2

S
26300-0807506 M8X0,75 6 2,5 58 5 41 2 6 11
26300-0810008 M8X1 6,4 2,5 61,1 51 43,9 3 8 10
26300-1010008 M10X1 6 2,4 65 6 41 3 8 13
26300-1210010 M12X1 8 3,5 84 8 61 4 10 14
26300-1415010 M14x1,5 10 3,5 88 8 59 6 10 17
26300-2015016 M20X1,5 18 6 127 17 76 8 16 24
26300-2515030 M25x1,5 22 8 173 18 111 10 30 32

BRARUEER
ESZIN:|

Nm
26300-0807506 1,4 2202 15 0,3-2 9 2,5

© norelem www.norelem.com



26300 Al FE R TR E HREs

BAR KA E
2N
Nm
26300-0810008
26300-1010008 1,76 3528 10 0,3-2 5,88 2,5
26300-1210010 4.9 5880 30 0,3-2 9,8 2,5
26300-1415010 5,88 8820 35 0,3-2 9,8 2,5
26300-2015016 - 20580 200 0,3-2 18,1 2,5
26300-2515030 49 29400 300 0,3-2 33,2 2,5

© norelem www.norelem.com



